# **Orthogonal Generalized Higher Reveres Derivations on Semi prime Rings**

# Salah Mehdi Salih

### **Entisar Majid Khazal**

Department of Mathematics College of Education Al-Mustansiriyah University Baghdad Iraq

## Abstract

In this paper we introduce and study the concept of orthogonal generalized higher reveres derivations on semi prime rings, also we prove the following theorem if  $D_n$  and  $G_n$  are orthogonal, then the following relations hold:

(1) $D_n(x)G_n(y) = G_n(x)D_n(y) = 0$ (2) $d_n$  and  $G_n$  are orthogonal higher reveres derivations and  $d_n(x)G_n(y) = G_n(y)d_n(x) = 0$ , for all  $x, y \in R$ . (3) $g_n$  and  $D_n$  are orthogonal higher reverse derivations and  $g_n(x)D_n(y) = D_n(y)g_n(x) = 0$ , for all  $x, y \in R$ . (4)In addition to demonstration other.

## Keywords

Semiprimering, Generalized higher reveres derivations, Orthogonal generalized higher reveres derivations.

### 1. Introduction

Throughout this paper R will represent an associative ring. R is said to be 2-torsion free if 2n=0,  $n \in R$  implies n = 0, R is prime if aRb = (0) implies a = 0 or b = 0, and R is simeprime if aRa = (0) implies a = 0.

In [5] I.N.Herstein defined derivation (resp. Jordan derivation) of R is an additive mapping  $d: R \to R$  such that d(ab) = d(a)b + ad(b), for every  $a, b \in R$ (resp. $d(a^2) = d(a)a + ad(a)$  for every  $a \in R$ ). As it is well known that every derivation is Jordan derivation and the converse is in general not true.

B. Havala in [4] defined a generalized derivation and Jordan generalized derivation as follow for all  $x, y \in R$  then the additive mapping  $f: R \to R$  is called a generalized derivation if there exists a derivation  $d: R \to R$  such that f(xy) = f(x)y + yd(x), we called an additive mapping  $f: R \to R$  a Jordan generalized derivation if there exists a Jordan derivation  $d: R \to R$  such that  $f(x^2) = f(x)x + xd(x)$  for all  $x \in R$ .

M. Brešar and J. Vukman in [2] defined reverse derivation as following for every  $x, y \in R$  then the additive mapping  $d: R \to R$  is called reverse derivation on R, d(xy) = d(y)x + yd(x), d is called Jordan everse derivation on R if for every  $x \in R$ ,  $d(x^2) = d(x)x + xd(x)$ .

M.R. Salih in [7] defined generalized reverse derivation as follows for all  $x, y \in R$  then additive mapping of a ring R into itself then f is called generalized reverse derivation on R if there exists a reverse derivation d on R such that f(xy) = f(y)x + yd(x).

M.R. Salih in [7] introduced the concept of higher reverse derivations on rings as follows let  $D = (di)_{i \in N}$  be a family of additive mappings on R, such that  $d_0 = id_R$  then D is called a higher reverse derivation on R if for every  $x, y \in R$  and  $n \in N$ ,  $d_n(xy) = \sum_{i+j=n} d_i(y)d_j(x)$ . And defined generalized higher reverse derivation on rings as follows let  $F = (f_i)_{i \in N}$  be a family of additive mappings of a ring R into itself such that  $f_0 = id_R$  then F is called a generalized higher reverse derivations onRif there exists a higher reverse derivation $D = (d_i)_{i \in N}$  on R such that for all  $n \in N$  we have  $f_n(xy) = \sum_{i+j=n} f_i(y)d_j(x)$ .

Brešar and Vukman in [3] defined orthogonal derivations in semiprime rings as follows two derivations D and G on a ring R are said to be orthogonal if D(x)RG(y) = (0) = G(y)RD(x), for all  $x, y \in R$ .

N. Argac and A. Nakajima and E. Albas in [1] extend the results of derivation into generalized derivation of R by presenting the concept of orthogonal generalized derivation.

A.H. Majeed in[6] defined orthogonal reverse derivation on ring as follows two reverse derivations f and h of R are called orthogonal if f(x)Rh(y) = (0) = h(y)Rf(x) for all  $x, y \in R$ . In this paper, the concept of orthogonal generalized higher reverse derivations is present, some characterization of it on semiprime rings are obtained we also investigate conditions for two generalized higher reverse derivations to be orthogonal.

#### 2. Orthogonal generalized higher reverse derivations on semi prime rings

In this section we introduce and study the concept of orthogonal generalized higher reverse derivations on rings.

#### **Definition (2.1)**

Let *R* be a ring, two generalized higher reverse derivations

 $D = (D_i)_{i \in N}$  and  $G = (G_i)_{i \in N}$  on R are called orthogonal if for every  $x, y \in R$  and  $n \in N$ , then

$$D_n(x)RG_n(y) = (0) = G_n(y)RD_n(x)$$

Where

$$D_n(x)RG_n(y) = \sum_{i=1}^n D_i(x)RG_i(y) = (0)$$

The following is an example of orthogonal generalized higher revers derivations on semiprime rings. **Example (2.2)** 

Let *R* be a ring and  $d = (d_i)_{i \in N}$ ,  $g = (g_i)_{i \in N}$  be two higher reverse derivations of *R*. We put  $R' = \{(a, b): a, b \in R \text{ then the mapping } d' = di' i \in N \text{ and } g' = gi' i \in N \text{ from } R' \text{ into itself which are defined by}$ 

$$d'_n((x, y)) = (d_n(x), 0)$$
 and

 $g'_n((x,y)) = (0, g_n(y))$ , for  $(x, y) \in R'$  are higher reverse derivations of R'

Moreover if  $(D_n, d_n)$  and  $(G_n, g_n)$  are generalized higher reverse derivations on R and we defined the mappings  $D' = (D'_i)_{i \in N}, G' = (G'_i)_{i \in N}$  on R' by  $D'_n((x, y)) = (D_n(x), 0)$  and  $G'((x, y)) = (0, G_n(y))$ , for all  $(x, y) \in R'$ Then,  $(D'_n, d'_n)$  and  $(G'_n, g'_n)$  are generalized higher reverse derivations of R' and  $D'_n, G'_n$  are orthogonal. Lemma (2.3):[3]

Let R be a 2-torsion free semiprime ring and a,b are elements of R then the following conditions are equivalent for all  $x \in R$ ,

1.axb = 0

2.bxa = 0

3.axb + bxa = 0

If one of these conditions is fulfilled then ab = ba = 0.

#### Theorem (2.4)

Let  $D = (D_i)_{i \in N}$  and  $G = (G_i)_{i \in N}$  be generalized higher reverse derivations on a 2-torison free semiprime ring, where  $D_n and G_n$  are commuting mappings if  $D_n$  and  $G_n$  are orthogonal. Then the following relations hold:

(i)  $D_n(x)G_n(y) = G_n(x)D_n(y) = 0$ 

Hence  $D_n(x)G_n(y) + G_n(x)D_n(y) = 0$ , for all  $x, y \in R$ .

**Proof:** By the hypothesis, we have

$$\sum_{i=1}^{n} D_i(x) z G_i(y) = 0, \text{ for all } x, y, z \in R \text{ by Lemma (2.3) we get}$$
$$D_n(x) G_n(y) = G_n(x) D_n(y) = 0$$

Hence  $D_n(x)G_n(y) + G_n(x)D_n(y) = 0$ 

(ii)  $d_n$  and  $G_n$  are orthogonal higher reverse derivations and

 $d_n(x)G_n(y) = G_n(y)d_n(x) = 0$  for all  $x, y \in R$ 

#### **Proof:**

Since  $D_n(x)G_n(y) = 0 = G_n(x)D_n(y)$  by (i)

$$\sum_{i=1}^{n} D_i(x)G_i(y) = 0$$
$$\sum_{i=1}^{n} D_i(xy)G_i(y) = 0$$

Replace *x* by *xy* we get

$$\sum_{i=1}^{n} D_i(y)d_i(x)G_i(y) = 0$$

$$\sum_{i=1}^{n} G_i(y)d_i(x)D_i(y) = 0$$
Replace  $D_i(y)$  by  $G_i(y)$  and  $d_i(x)$  by  $d_i(x)z$ 

$$\sum_{i=1}^{n} G_i(y)d_i(x)zG_i(y) = 0$$
And multiply of right by  $d_i(x)$  we get
$$\sum_{i=1}^{n} G_i(y)d_i(x)zG_i(y) d_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x) = 0$$

$$\sum_{i=1}^{n} d_i(x)G_i(y) = 0 \Rightarrow d_n(x)G_n(y) = 0 \qquad \dots (1)$$
Also replace  $x$  and  $y$  by  $xy$  in  $G_n(y)D_n(x) = 0$ 

$$\sum_{i=1}^{n} G_i(y)d_i(x)zG_i(y)d_i(x) = 0$$
Replace  $g_i(x)$  by  $d_i(x)z$  and  $D_i(y)$  by  $G_i(y)$ 

$$\sum_{i=1}^{n} G_i(y)d_i(x)zG_i(y)d_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x)zG_i(y)d_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x)zG_i(y)d_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x)zG_i(y)d_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x)zG_i(y)d_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x) = 0$$

$$\sum_{i=1}^{n} G_i(y)d_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x) = 0$$
Since  $R$ 
Since  $R$  is semiprime ring
$$\sum_{i=1}^{n} G_i(y)d_i(x) = 0$$
Since  $R$ 
S

Form (1) and (2) we get

$$d_n(x)G_n(y) = G_n(y)d_n(x) = 0$$

...(2)

(iii)  $g_n$  and  $D_n$  are orthogonal higher reverse derivations and  $g_n(x)D_n(y) = D_n(y)g_n(x) = 0$ , for all  $x, y \in R$ 

**Proof:** by (i) we have Since  $D_n(x)G_n(y) = 0 = G_n(x)D_n(y)$ 

$$\sum_{i=1}^{n} G_i(x) D_i(y) = 0$$

Replace *x* by *xy* we get

$$\sum_{i=1}^{n} G_i(xy)D_i(y) = 0$$
$$\sum_{i=1}^{n} G_i(y)g_i(x)D_i(y) = 0$$
$$\sum_{i=1}^{n} D_i(y)g_i(x)G_i(y) = 0$$
(y) by  $D_i(y)$ 

Replace  $g_i(x)$  by  $g_i(x)z$  and  $G_i(y)$  by  $D_i(y)$ 

And multiply of right by 
$$g_i(x)$$
 we get  

$$\sum_{i=1}^n D_i(y)g_i(x)zD_i(y) = 0$$

$$\sum_{i=1}^n D_i(y)g_i(x)zD_i(y)g_i(x) = 0$$
Since *R* is semiprime ring

Since *R* is semiprime ring

$$\sum_{\substack{i=1\\g_n(x)D_n(y)=0}}^n D_i(y)g_i(x) = 0 \Longrightarrow \sum_{i=1}^n g_i(x)D_i(y) = 0$$
...(1)

Also  $D_n(x)G_n(y) = 0$ Replace *x* by *xy* and *y* by *xy* we get

$$\sum_{i=1}^{n} D_i(xy)G_i(xy) = 0$$
Replace  $d_i(x)$  by  $g_i(x)z$  and  $G_i(y)$  by  $D_i(y)$  we get
$$\sum_{i=1}^{n} D_i(y)g_i(x)zD_i(y)g_i(x) = 0$$

Since *R* is semiprime ring

$$\sum_{i=1}^{n} D_i(y)g_i(x) = 0$$
...(2)

Form (1) and (2) we get

$$g_n(x)D_n(y) = D_n(y)g_n(x) = 0$$

(iv)  $d_n$  and  $g_n$  are orthogonal higher reverse derivations. **Proof**: By (i) we have Since  $D_n(x)G_n(y) = 0 = G_n(x)D_n(y)$  by (i)

$$\sum_{i=1}^{n} D_i(x)G_i(y) = 0$$

Replace *x* by *xy* and *y* by *yx* we get

$$\sum_{i=1}^{n} D_i(xy)G_i(yx) = 0$$

$$\sum_{i=1}^{n} D_i(y)d_i(x)G_i(x)g_i(y) = 0$$
Replace  $D_i(y)byg_i(y)zandG_i(x)byG_i(x)z$ 

$$\sum_{i=1}^{n} g_i(y)zd_i(x).G_i(x)zg_i(y) = 0$$
Replace  $G_i(x)byzd_i(x)$  we get
$$\sum_{i=1}^{n} g_i(y)zd_i(x)zd_i(x)zg_i(y) = 0$$

$$\sum_{i=1}^{n} d_i(x)zg_i(y)zd_i(x)zg_i(y) = 0$$

27

Since *R* is semiprime ring

$$\sum_{i=1}^n d_i(x) z g_i(y) = 0$$

Then  $d_n$  and  $g_n$  are orthogonal. (v)  $d_n G_n = G_n d_n = 0$  and  $g_n D_n = D_n g_n = 0$ , where  $D_n, G_n$  are commuting mappings. **Proof:** By (ii) we have Since  $d_n(x)G_n(y) = 0$ , Therefore  $\sum_{i=1}^n d_i(x). G_i(y) = 0$ Replace y by yx we get  $\sum_{i=1}^n d_i(x). G_i(yx) = 0$ 

$$\sum_{i=1}^{n} d_i(x) \cdot G_i(x)g_i(y) = 0$$

$$\sum_{i=1}^{n} G_i(x) \cdot d_i(x) \cdot g_i(y) = 0$$
Replace  $d_i(x)$  by  $d_i(x)z$  and  $g_i(y)$  by  $G_i(x)$ 

$$\sum_{i=1}^{n} G_i(x) \cdot d_i(x)zG_i(y) = 0$$
And multiply of right by  $d_i(x)$  we get
$$\sum_{i=1}^{n} G_i(x) \cdot d_i(x)zG_i(x)d_i(x) = 0$$

Since *R* is semiprime ring Therefore  $\sum_{i=1}^{n} G_i(x) d_i(x) = 0 \implies G_n d_n = 0$ Also since  $G_n(x) d_n(y) = 0$ , by(ii)

$$\sum_{i=1}^n G_i(x)d_i(y) = 0$$

Replace *x* by *xy* we get

$$\sum_{i=1}^{n} G_i(xy)d_i(y) = 0$$
$$\sum_{i=1}^{n} G_i(y).g_i(x).d_i(y) = 0$$
$$\sum_{i=1}^{n} d_i(y).G_i(y).g_i(x) = 0$$

replace  $g_i(x)$  by  $zd_i(y)$  we get  $\sum_{i=1}^n d_i(y) \cdot G_i(y) \cdot zd_i(y) = 0$  and multiply of the right by  $G_i(y)$  we get

$$\sum_{i=1}^{n} d_i(y). G_i(y). z d_i(y) G_i(y) = 0$$

Since *R* is semiprime ring

$$\sum_{i=1}^{n} d_i(y)G_i(y) = 0 \Longrightarrow d_n G_n = 0$$

And since  $g_n(x)D_n(y) = 0$ , by (iii)

$$\sum_{i=1}^{n} g_i(x) D_i(y) = 0,$$
  
Replaceybyyxwe get

$$\sum_{i=1}^{n} g_i(x) D_i(yx) = 0$$
$$\sum_{i=1}^{n} g_i(x) D_i(x) d_i(y) = 0$$
$$\sum_{i=1}^{n} D_i(x) g_i(x) d_i(y) = 0$$

Replace  $d_i(y)$  by  $zD_i(x)$  we get  $\sum_{i=1}^{n} D_i(x) g_i(x) z D_i(y) = 0$ , and multiply of right by  $g_i(x)$  we get  $\sum_{i=1}^{n} D_i(x)g_i(x)zD_i(x)g_i(x) = 0$ Since *R* is semiprime ring  $\sum_{i=1}^{n} D_i(x)g_i(x) = 0 \Longrightarrow D_ng_n = 0$ And since  $D_n(x)g_n(y) = 0$  $\sum_{i=1}^{n} D_i(x)g_i(y) = 0,$ Replace*x*by*xy*we get  $\sum_{i=1}^{n} D_i(xy)g_i(y) = 0$  $\sum_{i=1}^{n} D_i(y)d_i(x)g_i(y) = 0$  $\sum_{i=1}^{n} g_i(y)D_i(y)d_i(x) = 0$ 

Replace  $d_i(x)$  by  $zg_i(x)$  we get  $\sum_{i=1}^{n} g_i(y) D_i(y) z g_i(x) = 0$ , and multiply of right by  $D_i(y)$  we get  $\sum_{i=1}^{n} g_i(y) D_i(y) z g_i(y) D_i(y) = 0$ 

Since *R* is semiprime ring

$$\sum_{i=1}^{n} g_i(y) D_i(y) = 0 \Longrightarrow g_n D_n = 0$$

(vi)  $D_n G_n = G_n D_n = 0$  where  $D_n and G_n$  are commuting mappings **Proof:** Since  $D_n(x)G_n(y) = 0$ 

$$\sum_{i=1}^{n} D_i(x)G_i(y) = 0$$

Replace y by yx we get

$$\sum_{i=1}^{n} D_i(x)G_i(yx) = 0$$
$$\sum_{i=1}^{n} D_i(x)G_i(x)g_i(y) = 0$$

Replace 
$$g_i(y)$$
 by  $zG_i(x)$  we get  
And multiply of right by  $D_i(x)$  we get
$$\sum_{i=1}^n G_i(x)D_i(x)zG_i(x) = 0$$

$$\sum_{i=1}^n G_i(x)D_i(x)zG_i(y)D_i(x) = 0$$
Since  $R$  is semiprime ring
$$\sum_{i=1}^n G_i(x)D_i(x) = 0 \Rightarrow G_nD_n = 0$$
Since therefore  $G_n(x)D_n(y) = 0$ Since  $D_n$  and  $G_n$  are commuting

Since th Therefore  $D_n G_n = 0$ 

### 3. Main results:

In this section we present the main results of this paper we begin with the following lemma.

**Lemma** (3.1): Let R be a semiprime ring, U be an ideal of R and V = Ann(U). If  $D = (D_i)_{i \in N}$  is higher reverse derivations associated with a generalized higher reverse derivation of R such that  $d = (d_i)_{i \in N}$  and  $d_n$  is commuting mapping,  $D_n(R), d_n(R) \subset U$  then  $D_n(V) = d_n(V) = 0$ . **Proof:** If  $x \in V$ , then xU = (0) by the hypothesis we have:

. ....

Hence 
$$D_n(xy) = 0$$
  
Hence  $D_n(xy) = 0$   
Replace y by yx we get
$$\begin{aligned}
\sum_{i=1}^n D_i(y)d_i(x) &= 0 \\
\sum_{i=1}^n D_i(y)d_i(x) &= 0 \\
\sum_{i=1}^n D_i(x)d_i(y)d_i(x) &= 0 \\
\sum_{i=1}^n D_i(x)d_i(x)d_i(y) &= 0 \\
\sum_{i=1}^n D_i(x)d_i(x)D_i(x) &= 0 \\
\text{Since } R \text{ is semiprime ring}
\end{aligned}$$
Since  $D_n(x) \in U \cap V$ , we get  $D_n(V) = 0$   
Since  $D_n(x) \in U \cap V$ , we get  $D_n(V) = 0$   
Since  $D_n(x) \in U \cap V$ , we get  $D_n(V) = 0$   
Since  $D_n(x) \in U \cap V$ , we get  $D_n(V) = 0$   
Since  $D_n(x) \in U \cap V$ , we get  $D_n(V) = 0$   
Since  $D_n(x) \in U \cap V$ , we get  $D_n(V) = 0$   
Since  $D_n(x) \in U \cap V$ , we get  $D_n(V) = 0$   
Since  $D_n(x) \in U \cap V$ , we get  $D_n(V) = 0$   
Since  $D_n(x) \in U \cap V$ , we get  $D_n(V) = 0$   
Since  $D_n(x) \in U \cap V$ , we get  $D_n(V) = 0$   
Since  $D_n(x) \in U \cap V$ , we get  $D_n(V) = 0$   
Since  $D_n(x) \in U \cap V$ , we get  $D_n(V) = 0$   
Since  $D_n(x) \in U \cap V$ , we get  $D_n(V) = 0$   
Since  $D_n(x) = 0 \Rightarrow D_n(U) \subset U$   
Hence  $d_n(xy) = 0 \Rightarrow \sum_{i=1}^n d_i(y) \cdot d_i(x) = 0$   
Replace y by yx we get

$$\sum_{i=1}^{n} d_i(yx) \cdot d_i(x) = 0$$
$$\sum_{i=1}^{n} d_i(x) \cdot d_i(y) \cdot d_i(x) = 0$$
$$\sum_{i=1}^{n} d_i(x) = 0$$
$$d_n(x) \in U \cap V, \text{ we get}$$

Since *R* is semiprime ring

$$\sum_{i=1}^{n} d_i(x) = 0$$
  
$$d_n(x) \in U \cap V, \text{ we get}$$
  
$$d_n(x) = 0 \Longrightarrow d_n(V) = 0$$

 $a_n(x) = 0 \implies a_n(v) = 0$ Lemma (3.2): Let  $(D_n, d_n)$  be generalized higher reverse derivations of semiprime ring R. If  $D_n(x)D_n(y) = 0$ , for all  $x, y \in R$  and  $n \in N$  then  $D_n = d_n = 0$ .

**Proof:** By the hypothesis, we have

$$D_n(x)D_n(y) = 0 \Rightarrow \sum_{i=1}^n D_i(x)D_i(y) = 0$$
  
replace y by xywe get
$$\sum_{i=1}^n D_i(x)D_i(xy) = 0$$
  
$$\sum_{i=1}^n D_i(x)D_i(y)d_i(x) = 0$$
  
Since R is semiprime ring
$$\sum_{i=1}^n d_i(x) = 0 \Rightarrow d_n = 0$$
  
Also by the hypothesis we have
$$\sum_{i=1}^n D_i(x)D_i(y) = 0$$
  
replace x by xywe get
$$\sum_{i=1}^n D_i(xy)D_i(y) = 0$$
  
Since R is semiprime ring
$$\sum_{i=1}^n D_i(y)d_i(x)D_i(y) = 0$$
  
Since R is semiprime ring
$$\sum_{i=1}^n D_i(y) = 0 \Rightarrow D_n = 0$$

We get  $D_n = d_n = 0$ **Theorem (3.3)**: Let R be a 2-torsion free semiprime ring, let  $D = (D_i)_{i \in N}$  and  $G = (G_i)_{i \in N}$  generalized higher reverse derivations associated with higher reverse derivations  $d = (d_i)_{i \in N}$  and  $g = (g_i)_{i \in N}$  respectively, where  $D_n$  and  $G_n$  are orthogonal iff for all  $x, y \in R$  then:

(a) 
$$D_n(x)G_n(y) + G_n(x)D_n(y) = (0)$$
  
(b)  $d_n(x)G_n(y) + g_n(x)D_n(y) = (0)$   
**Proof:** Suppose that  $D_n and G_n$  are orthogonal

To prove (a) 
$$D_n(x)G_n(y) + G_n(x)D_n(y) = (0)$$
  
 $\sum_{i=1}^n D_i(x)zG_i(y) = \sum_{i=1}^n G_i(x)zD_i(y) = (0)$  where  $z \in R$   
 $\sum_{i=1}^n D_i(x)zG_i(y) = \sum_{i=1}^n G_i(x)zD_i(y) = (0)$   
Hence By lemma (2.3)  
 $D_n(x)G_n(y) + G_n(x)D_n(y) = 0$   
Now, to prove (t)  $d_n(x)G_n(y) + g_n(x)D_n(y) = (0)$   
Since by (a)  $D_n(x)G_n(y) = (0)$   
Replace  $D_i(x)$  by  $G_i(x)$  we get  
 $\sum_{i=1}^n d_i(G_i(y))d_i(D_i(x)) = (0)$   
Replace  $G_i(y)$  by  $x$  and  $d_i(x)$  by  $y$  we get  
 $\sum_{i=1}^n d_i(x)G_i(y) = (0)$   
Hence  
 $d_n(x)G_n(y) = (0)$   
Replace  $G_i(x)$  by  $D_i(y)$  we get  
 $\sum_{i=1}^n g_i(G_i(x)D_i(y)) = (0)$   
Replace  $G_i(x)$  by  $D_i(y)$  we get  
 $\sum_{i=1}^n g_i(D_i(y))g_i(G_i(x)) = (0)$   
Replace  $G_i(x)$  by  $D_i(y)$  we get  
 $\sum_{i=1}^n g_i(D_i(y))g_i(G_i(x)) = (0)$   
Replace  $D_i(y)$  by  $x$  and  $g_i(y)$  by  $y$  we get  
 $\sum_{i=1}^n g_i(D_i(y))g_i(D_i(y)) = (0)$   
Replace  $D_i(y)$  by  $x$  and  $g_i(y)$  by  $y$  we get  
 $\sum_{i=1}^n g_i(D_i(y))g_i(D_i(y)) = (0)$   
Replace  $D_i(y)$  by  $x$  and  $g_i(y)$  by  $y$  we get  
 $\sum_{i=1}^n g_i(D_i(y))g_i(D_i(y)) = (0)$   
Replace  $D_i(y)$  by  $x$  and  $g_i(y)$  by  $y$  we get  
 $\sum_{i=1}^n g_i(x)D_i(y) = (0)$   
Hence  
 $g_n(x)D_n(y) = (0)$   
 $\sum_{i=1}^n g_i(x)D_i(y) = (0)$   
Hence  
 $g_n(x)D_n(y) = (0)$   
 $\sum_{i=1}^n g_i(x)D_i(y) = (0)$   
 $\sum_{$ 

Replace *x* by *yx* we get

$$\sum_{i=1}^{n} D_{i}(yx)G_{i}(y) + G_{i}(yx)D_{i}(y) = (0)$$

$$\sum_{i=1}^{n} D_{i}(x).d_{i}(y).G_{i}(y) + G_{i}(x).g_{i}(y).D_{i}(y) = (0)$$
Replace  $g_{i}(y)$  by  $d_{i}(y)$  we get
$$\sum_{i=1}^{n} D_{i}(x).d_{i}(y).G_{i}(y) + G_{i}(x).d_{i}(y).D_{i}(y) = (0)$$

$$\sum_{i=1}^{n} D_{i}(x).d_{i}(y).G_{i}(y) = 0$$

$$\sum_{i=1}^{n} G_{i}(y).d_{i}(y).D_{i}(x) = 0$$
Then  $D_{i}(x)$  are orthogonal

Then  $D_n$ ,  $G_n$  are orthogonal

**<u>Theorem (3.4)</u>**Let *R* be a 2-torsion free semiprime ring. let  $D = (D_i)_{i \in N}$  and  $G = (G_i)_{i \in N}$  are generalized higher reverse derivations associated with  $d = (d_i)_{i \in N}$  and  $g = (g_i)_{i \in N}$  are higher reverse derivations, of  $D_n$  and  $G_n$ respectively where  $D_n, G_n$  are commuting mappings, then  $D_n$  and  $G_n$  are orthogonal iff  $D_n(x)G_n(y) =$  $d_n(x)G_n(y) = (0)$  for all  $x, y \in R$ .

**Proof:** Suppose that  $D_n$ ,  $G_n$  are orthogonal by Theorem (2.4) part (i) we get  $D_n(x)G_n(y) = 0$ 

Replace 
$$D_i(x)$$
 by  $G_i(x)$  we get  

$$\sum_{i=1}^n D_i(x)G_i(y) = 0$$

$$\sum_{i=1}^n d_i(D_i(x)G_i(y)) = 0$$

$$\sum_{i=1}^n d_i(G_i(y)).d_i(D_i(x)) = 0$$

$$\sum_{i=1}^n d_i(G_i(y)).d_i(G_i(x)) = 0$$
Replace  $G_i(y)$  by  $x$  and  $d_i(x)$  by  $y$ 

$$\sum_{i=1}^n d_i(G_i(y)).G_i(d_i(x)) = 0$$
Replace  $D_n(x)G_n(y) = (0)$ 

$$\sum_{i=1}^n D_i(x).G_i(y) = (0)$$
Replace  $x$  by  $yx$  we get
$$\sum_{i=1}^n D_i(yx).G_i(y) = (0)$$

$$\sum_{i=1}^n D_i(x).d_i(y).G_i(y) = (0)$$

Replace  $D_i(x)$  by Q

Conversely

Since  $D_n(x)G_n(y)$ 

Hence 
$$\sum_{i=1}^{n} D_i(x) \cdot d_i(y) \cdot G_i(y) = (0) = \sum_{i=1}^{n} G_i(y) \cdot d_i(y) \cdot D_i(x) = (0)$$
  
Then  $D_n$  and  $G_n$  are orthogonal

**Theorem (3.5)** Let *R* be a 2-torsion free semiprime ring,  $D = (D_i)_{i \in N}$  and  $G = (G_i)_{i \in N}$  are generalized higher reverse derivations associated with higher reverse derivations  $d = (d_i)_{i \in N}$  and  $g = (g_i)_{i \in N}$ , where  $d_n, G_n$  are commuting mappings, then  $D_n$  and  $G_n$  are orthogonal iff  $D_n(x)G_n(y) = (0)$  for all  $x, y \in R$  and  $d_nG_n = d_ng_n = 0$ .

**Proof**: Suppose that  $D_n$  and  $G_n$  are orthogonal.

 $D_n(x)G_n(y) = 0$  we get by Theorem (2.4) part (i) and part (ii)  $G_n(y)d_n(x) = 0$ 

$$\sum_{i=1}^{n} d_i (G_i(y), d_i(x)) = 0$$
$$\sum_{i=1}^{n} d_i (d_i(x)), d_i (G_i(y)) = 0$$

Replace  $d_i(x)$  by  $zG_i(y)$  we get

$$\sum_{i=1}^n d_i \big( zG_i(y) \big) \cdot d_i \big( G_i(y) \big) = 0$$

n

 $\sum_{i=1}^{n} d_i (G_i(y)) . d_i(z) . d_i (G_i(y)) = 0$ Since *R* is semiprime

$$\sum_{i=1}^{n} d_i(G_i(y)) = (0)$$

$$d_n G_n = 0 \qquad \dots (1)$$
By Theorem (2.4) part (ii)  $d_n(x)G_n(y) = (0)$ 

$$\sum_{i=1}^{n} g_i(d_i(x), G_i(y)) = (0)$$
Replace  $G_i(y)$  by  $zd_i(x)$  we get
$$\sum_{i=1}^{n} g_i(zd_i(x)), g_i(d_i(x)) = (0)$$

$$\sum_{i=1}^{n} g_i(d_i(x)), g_i(d_i(x)) = (0)$$
Since  $R$  is semiprime we get
$$\sum_{i=1}^{n} g_i(d_i(x)), g_i(z), g_i(d_i(x)) = (0)$$

$$\sum_{\substack{i=1\\n}}^{n} g_i(d_i(x)) = 0$$
$$\sum_{i=1}^{n} d_i(g_i(x)) = (0)$$
$$\dots (2)$$

From (1) and (2) we get

$$d_n G_n = d_n g_n = 0$$

**Conversely:** Suppose that  $d_n G_n = 0$ 

$$\sum_{i=1}^{n} d_i (G_i(xy)) = (0)$$

$$\sum_{i=1}^{n} d_i (G_i(y)g_i(x)) = (0)$$

$$\sum_{i=1}^{n} d_i (g_i(x)) \cdot d_i (G_i(y)) = (0)$$

$$\sum_{i=1}^{n} d_i (g_i(x)) \cdot G_i (d_i(y)) = (0)$$

$$\sum_{i=1}^{n} d_i (x) \cdot G_i (y) = (0)$$

Replace  $g_i(x)$  by x and  $d_i(y)$  by y

$$\sum_{i=1}^{n} d_i(x). G_i(y) = (0)$$
$$d_n(x)G_n(y) = 0$$

By Theorem (2.8) we get  $D_n$  and  $G_n$  are orthogonal. **Theorem (3.6)**Let R be a 2-torsion free semiprime ring and  $D_n$ ,  $G_n$  are generalized higher reverse derivations of R. Suppose  $D_n^2 = G_n^2$  then  $D_n - G_n$  and  $D_n + G_n$  are orthogonal. **Proof:** Since  $D_n^2 = G_n^2$  we get

$$\sum_{i=1}^{n} ((D_i + G_i)(D_i - G_i) + (D_i - G_i)(D_i + G_i))(x)$$

$$= \sum_{i=1}^{n} ((D_i + G_i)(D_i - G_i))(x) + ((D_i - G_i)(D_i + G_i))(x)$$

$$= \sum_{i=1}^{n} (D_i + G_i)(x)(D_i - G_i)(x) + \sum_{i=1}^{n} (D_i - G_i)(x)(D_i + G_i)(x)$$

$$= \sum_{i=1}^{n} (D_i(x) + G_i(x))(D_i(x) - G_i(x)) + \sum_{i=1}^{n} (D_i(x) - G_i(x))(D_i(x) - G_i(x))$$

$$= \sum_{i=1}^{n} D_i^2(x) - (D_iG_i)(x) + (G_iD_i)(x) - G_i^2(x) + \sum_{i=1}^{n} D_i^2(x) + (D_iG_i)(x) - (G_iD_i)(x) - G_i^2(x) = 0$$

$$= \sum_{i=1}^{n} D_i^2(x) - (D_iG_i)(x)(D_i - G_i)(x) + (D_i - G_i)(x)(D_i + G_i)(x) = 0$$

$$= \sum_{i=1}^{n} (D_i + G_i)(x)(D_i - G_i)(x) + (D_i - G_i)(x)(D_i + G_i)(x) = 0$$

There By Lemma (2.3) we get nп

$$\sum_{i=1}^{n} (D_i + G_i)(x)(D_i - G_i)(x) = 0 = \sum_{i=1}^{n} (D_i - G_i)(x)(D_i + G_i)(x)$$

Hence  $D_n - G_n$  and  $D_n + G_n$  are orthogonal. **Corollary (3.7):** Let *R* be a 2-torsion free semiprime ring and  $D_n$ ,  $G_n$  be generalized higher derivations on *R*. Suppose  $D_n^2 = D_n^2$  then  $D_n - G_n$  and  $D_n + G_n$  are orthogonal.

# References

- N. Argac A. Nakajima and E. Albas, " On Orthogonal Generalized Derivations of SemiPrime Rings", Turk .J. Math., 28, pp.185-194. 2004.
- M. Brešar and J. Vukman, " On Some Additive Mapping in Rings with Involution", Aequations Math., 38, 178-185, 1989.
- M.Brešar and Vukman , " Orthogonal Derivations and on Extension of a Theorem of Posner", RadoviMathematick , 5,pp. 237-246, 1989.

B. Havala, "Generalized Derivation in Prime Rings", Comm. Algebra, Vol.26, No.4, pp.1147-1166, 1998.

I.N. Herstein, "Topics in Rings Theory", Ed. The University Chicago press, Chicago, 1969.

- A.H. Majeed, " On Orthogonal Reverse Derivations of SemiPrime Rings", Iraqi Journal of Scince, Vol.50, No.1, pp. 84-88, 2009.
- M.R. Salih, "On Reverse Derivations on PrimeΓ-ring", M.Sc. ThesisCollege of Education, AL-Mustansiriya University, 2014.